/ Review Lessons 4.1-4.3 Worksheet

Name: Y. E\‘,

Graph the function by completing the table. Identify the graph’s axis of symmetry, vertex, whether the
graph opens up or down, and its maximum/minimum value. Then compare the graph with the graph of

y = x2%,
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Identify the graph’s axis of symmetry, vertex, y-intercept, whether the graph opens up or down, and its
maximum/minimum value. Then graph the function by completing the table.
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5)y==3G+22+1 [t 6) y= (et 4)? '; N EEEEEEE)
" /. Ed:—-vertex ( 4 0) ™ i { : ;.
| max.@value. % l 0 I

* 10| R]-210 |2 x |-b| -S| 4|32

(32,0)  (1,0)
7)y=x-3)(x-7)
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vertex: L'! - :I I
y-int: !E) _L\ )

(4.9) -, 0) |
e 8) f(x) = 2(x - 4)(x+1) R [ T
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Y (5;*5\(& oy m 301 Y= 2051541
-\1.5
Write the quadratlc in fune;b&l ‘{?{Er d
9) y==-3(x+5)*-1 10) y=-7(x—6)(x+ 1)

\5-- —ﬁgixigﬁ(X‘Sﬁ -] \ﬁ “Ix? +X-\oX- \0)

. 5 = - 1{x-5x-Y4)
/()( 75)( *6)( +[_t)\’.'
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Factor the expression completely, if possible. " d\ L Ly (N
\
11) x2 — 4x + 4 g 12.) b2 — 400 of squorts
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13.) s% — 26s + 169
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Solve the equation using factoring.

14.) m? 4+ 8m — 65

15) x2—11x+30=0 16.) m? = 7m 17.) r2+2r =80
o (x-0)(x-9)=0 '1"‘14"’\ 0 {*+7r -30 =0
Y x5 o=y (r ) (-9 =0
X-1 =0 e mn{m-T)=0 LS
[x-1] [ X=2 J o S me10 100 Ty-g)

1] el

Find the zeros of the quadratic function.

18) y=x2_8x+16 19) f(x) =n2-12n 20) y=x2—64

0= (x-9(x th‘) 0=n(N-17) 0 = (X -B)X +8)

| t/ wj \;n \7* Y ‘xﬂg )
X -9=0 X -%~=0 51

el Yx;fﬂ Lotz s
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21.) The arch of the Gateshead Millennium Bridge forms a parabola with equation
y = —0.016(x — 52.5)? + 45 where x is the horizontal distance (in meters) from the arch’s left
end and y is the distance (in meters) from the base of the arch. (2.9 4 5)

What is the width of the arch? o

Ny (92.9,49)
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22.) Although a football field appears to be flat, its surface is actually shaped like a parabola so that rain runs

off to both mdcks0 {h\e cro(s\s\osectlcin of a field with synthetic turf can be modeld by

y = —0.000234x(x — 160)
surface of
football field
\,< .

where x and y are measured in feet.

a.) What is the field’s width? —
% B T %0 - \J \D O {: * Natdrawn tosc‘aw
b.) What is the maximum height of the field’s surface? U

x= 290 o

4= - 0000224 (50} (80 100)
~) 4970 £
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